除法計算與四則混合計算 總整理

除法直式計算與驗算

(1) 96÷12           驗算  

＝(   )…(   )

(2) 605÷70          驗算
＝(   )…(   )

(3) 490÷90          驗算
＝(   )…(   )

(4) 3168÷18         驗算
＝(   )…(   )

(5) 4118÷59         驗算
＝(   )…(   )

(6) 43128÷59        驗算
＝(   )…(   )

(7) 70008÷56        驗算
＝(   )…(   )

四則混合計算

(1) 800－(92＋46)       (2) (89＋354)－350

 ＝                   ＝

(3) 252÷(21×4)          (4) (504÷18)×7

 ＝                   ＝

(5) 13×(168÷42)         (6) (108×5)÷27

 ＝                   ＝

(7) 1000－(250×3)       (8) (85＋15)×20

 ＝                   ＝

(9) (12×11)＋(12×9)

＝

解答：

(1) 96÷12           驗算  

＝( 8 )…( 0 )      12×8＝96

(2) 605÷70          驗算
＝( 8 )…( 45 )      70×8＝560

                   560＋45＝605

(3) 490÷90          驗算
＝( 5 )…( 40 )        90×5＝450

                    450＋40＝490
(4) 3168÷18         驗算
＝( 176 )…( 0 )       176×18＝3168

(5) 4118÷59         驗算
＝( 69 )…( 47 )       69×59＝4071

                   4071＋47＝4118
(6) 43128÷59        驗算
＝( 730 )…( 58 )      730×59＝43070

                   43070＋58＝43128

(7) 70008÷56        驗算
＝( 1250 )…( 8 )     1250×56＝70000

                   70000＋8＝70008

四則混合計算

(1) 800－(92＋46)       (2) (89＋354)－350

＝800－138            ＝443－350

＝662                 ＝93

(3) 252÷(21×4)          (4) (504÷18)×7

＝252÷84              ＝28×7

＝3                   ＝196

(5) 13×(168÷42)         (6) (108×5)÷27

＝13×4                ＝540÷27

＝52                  ＝20

(7) 1000－(250×3)       (8) (85＋15)×20

＝1000－750           ＝100×20

＝250                 ＝2000
(9) (12×11)＋(12×9)

＝132＋108

＝240

